"Name

Adding and Subtracting Decimals

Find 1.7 + 2.45.

Find 36.57 ~ 4.6.

Line up the decimal polnts.

+ 1
1.7 0 = Write zeros to

Line up the decimal points.

y 5 15
36.57 38.87 Witezerosto

+ 2.45 4+ 2.45  show place value. — 4.8 — 4,6Q < show place value
4.15 31.97
{ Place decimal point 4 Place declmal point
t in answer. In answer.
Find each sum or difference.
t t

1. 2.6856 2, 14.10 3. 744 4, 9

+13.30 — . 3.05 + 36.2 ‘ - (.6
5. 8.97 g. 100 . 6.8 8 0.5

+ 66 = 0.22 +237.28 —0.23
9,154 — 8 = 10. 3 — 2.54 =
11. 134 + 4.1 = 12. 133.01 - 5.6 =

18, 448 + 1.75 + 80.3 =

14. 123 + 0.61 + 100 =

15. On the 3-days of their vacation, the Davis family
traveled 417 mi, 45.3 mi, and 366.9 mi. How far

did they travel all together?

16. Etta bouglit a calculator for $15. Glenn found the-
- same model for $9.79. How much more did Etta

pay than Glenn did?
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o

Multiplying with Decimals
Find 4.3 X 2.7.
Muitiply as you would Count the number of decimal places fn bath factors.
with whole numbers, The total is the number of decimal places in the product.
, .
4.3 4.3 = 1 decimal placa
xX2.7 X 2.7 <+ + 1decimal place
301 11.61 - 2 decimal places
860
1161
Find each product.
1. 14 2 1.8 3. 0.4 4. 0.06
X 8.8 X .9 X3.2 X_0.3
112 .
1120
5 2,15 8 3.3 7. 0.51 8 1.85
X.8.8 x 0,12 x 4.2 X 13
9. 23 X 0.47 = 10, 09 X b= __ 11, 168 X 2.25 =
12, 0.8 X 0.11 = 13, 20X 202 =____.  14.49%X03=
15. A roll of paper towels contaified 250 sheets.

16.

Each sheet was 8.75 inches lohg. How long was the roll?

Tanla bought 3 new sweaters. Each sold for $-19.-99.

How much did she spend?

i
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Name

interpreting Data

Lengths of the Great Lakes

The bar graph shows the lengths 500
in miles of the Great Lakes. Lengths 400
of bars represent lengths of lakes.

£a
fa)
<

Which is the shertest Great Lake?

Length {mi)
g

—a
o
L=

0 2| o | S
Superlor Michigan  Erle Huron  Ontarlo

The shortest lake is Lake Ontario.
‘ Lake
Use the graphs to answer each guestion,
1. How many archeis scored 4 hull’s eyes? . Archery Results
' x X
X X X
X X X X
X X X X X X
2, What was the most common numbar 5 1.2 5 4 5 8

of bulis-eyaes scored? Numbar of Bulls-eyes Scored

3. In which month wers the most houses

40 Numb.er of Houses Sold o SDICI?
. 30 /
3 e
£ 20 /-
z
10 Ve 4. In whieh.menth were about the same
e number sold as were sold in August?
Jan Feb Mar Apr May Jun Jul Aug ‘
Month
5. Which grades ralsed about the same’ 500 . SC1100! Book Fund Drive
amount for the school book drive? -
: : . 400
& I
. 800
: s g T 200
- 8. The school’s goal was to ralse $1,500. a

About how much did they raise in all? 100

st 2nd 8rd - 4th  5th
Grade '

)

‘)] )

[is]
y
g
,,E,A
3
<
- B
E
Y
ﬁ‘
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Name

Adding and Subtracting F:rac,‘ti:ons

b & g L gl 1
Find 5 + &. Findy - 5

3((6) 9 |12]15] Multtiples of 3 4] 8 [12[16]2g] Multiples of 4
(6)[12]18]24|30| Multiples of 6 | 5 {10]15[20] 25| Multiples of 5

The least cormimon denoeminator is 6.

The least common denominator is 20.

Write equivalent fractions. g— = % Write equivalent fractions. % = 5%
1.1 | 1.4
Add. *E=8 Subfract, ~ % =50
<} 1
B 20
Find each sum ar difference.
1.2 _ 1_6 1.4 _
L 4+3= ——— 24278 33t ——
| al 12
3 6 J
3.,2_ 1_8 _ L 11
4ghy= S 212~ 6.2*t3= 375
8_1_ 3.8 _ 1,2 2 1_
88"6'—________ 9u5+10"‘ 10-2|"5'““ 11-3 4—
12. Meg practiced the Ian_éﬁfo_rq% hr. She did homework
for'% hr. How much longer did she do homework than
she practiced the piano?
-

i
H
H

0P

e
w - : .
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Addmg Mixed Numbers |

To add mixed numbers, you can add the fraotlonal paris to the whole
numbar parts, and then simplify.

Find 22 + a1, Find 32 + 43, Find 4 + 32,
The fractions have a \Write equivalent fractions Add the whole numbars;
common denominator, with the LCD. then add the fraction.
Add the fractiona. Then 0 8
add the whole numbers, 3L = 3= 4
2 3 9 3 B
24 | w4l =4l 3%
] 9 9 —
+3 7 ‘ 7 3
— Add the‘whole numbars. 5
5 3 Add tha fractiors,
4 Simplify If possible.
ol
‘ 3 9
1
,_I.. ——
Hy
7
'3

1. 24 +28= 2. 45+ 11 =
3 _ . 5 5 _

3 Sg—l-%m e A Bg T

5. 6%+ 11§ = 8. 7+8%=

7. In 2001, the men’s indoor pole vauft record was 20 ft.
The women’s record for the indoor pole vault was 15% ft,

What is the cembined helght of the two records?

a. Wrmng in Math How highlisa stack of library books if one book
is 13 in. high, the second book 18 12 in.high, and the third is
2 In. high? Explain how you soived this problem.
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Name

One Way

Draw a plciure. Shmplify i
possible,

8 of the 28 squares have
overlapping shading.

oty & 10 &
Simplify 58 to 4.

ractions

Another Way

Multiply the nugnerators
and denominaters,
Simplify if possible.

o o
o ~§no

X
X
x

raji RN
-3
)
Bl

Find each product. Simplify if possible.

4,

6.

B o 1
3. ng-——
4 3 _
5u ‘gX§~

7. Number Sense Can you simplify before multiplying 14 % 237 Explain.

Simplify First

Find the GCF of any
numerator and any
denoiminator,

The GCF of 2 and 4 is 2.
~ Pivide 2 and 4 by the GCF.

= 3

s 14

SN
~Ifhg—

oen
X

=N
Il

1
2
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Probiem S@gi\iing: Strategies

[
o

Review

14

A computer store has 25 prlhters and computars. | Problem Solving Strategies

There are 7 more printers than computers. o Act It Ot
How many of each are there? I e Draw a Ploture
Printers Computers Check # Look Fora Pattern
Guess 1 20 ‘ 5 Do -5 =1 ¢ Try, Check, and Revise
Guess 2 14 1 14 — 11 =38 ° Make an Organized List
Guess 3 16 9 16 - 9=17/ o Make a Table -~

» Solva a Simpler Problem:

Solution: There are 16 printers and 9 computers. ¢ Work Backward

Use any strategy to sclve.

1.

At the veterinarian’s oifics, Tertl leaimed that her dog welghed

4 times as much as her cal. Together the pets weighed 40 Ibs.

How much did the dog welgh?

. Yasmin arrived home from play practice at 4:25 pM. The walk

home took 16 minutes. Practice began 20 minutes after the
final bell and lagted for a half hour. When did school end?

Vanessa, Diego, Rose and Randy
stood in line for funech, Rose was just
hehind Vanessa. Diego was not next
to Rose or Randy Wrate the fine order.

Studems playad doﬁge ball and vnlleyball for 45 minutes,
They played dodge ball for 11 more minutes than they played

Vol!eybal! How Iong dld they play dodge ball?

Mr. Jones has 4 shln‘;s, 2 ties, and
3 pair of pants How mahy daysin. A
a row cary he Wear a dzﬁ arent outﬂt? i

* ® Scott Foresman Addishn-Wesley & ©
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Name

1l

Units of Length

foot (ft) 1ft=121In.

yard (yd) 1yd =3
1yd =38 in.

mite (mi} 1.mi = 5,280 ft

1 mi = 1,760 yd

Customary Measurement

Units of Capacity

cup (c) 1 ¢ = 8 fluid ounces {0z)
pint {pt) 1pt=2c

guart{gt) 1ot=2pt

gallon (gal) 1 gal = 4 gt

How to change from one unit of rﬁeasurement 10 another:

To change from largsr units to smaller
units in the customary system, you have
to multinly.

120 yd =
1yd =3 ft

120 X 8 ft = 380 ft
120 yd = 360 ft

ft

1, 38in. = .—_ ft
3. 5lb= 0z
5. 1.5mi=.___ ft
7. 2T = Ib
9. 640z = o
11, 4 gal = pt
13. 6.5 = oz
15, 45qt = c

To change from smaller units to larger
ones, you have to divide.

256 0z =
1c=8o0z

256 + 8 = 32
2660z =32¢C

C

2. 4qt:mo

4, 9ft = yd
6. 35gal=.. . qt
8 t6pt=—— gt

10, 3yvd= —__in

12, 55 yd = ft
14, 20 ptngal

16, 206yd=_______ 1t

-17. Reasonhing A vendor at a festival sells soup for $1 .25 per cup or

$3.75 per quart. Which is the better buy?

R 101

® Pearson Education, Inc. 6

N
(%)

e
o

e



“

Name

Perimeter

Perimeter is the distance around a shape.

You can add the lengths of all the sides | If only one side of a figure Is given,

or you can multiply the sum of the then all sides have the same length.
length and the width by 2 to find the 5 om
perimeter of a rectangte.
25 in,
gin, _ -
p=586cm+5&cm+ 5om+ 5oem=20om

p=25in+9in +25in +9in =68In. | °FP =4X5om=20cm

orp =2 (251in, -+ 9in) = 68 in,

1. Find the perimeter of the rectangle. 2. Find the perimeter of the square.

8m Sin:

6m,

Find the perimeter of each figure.

3. 1t . 4. om 3m & 6.
4.5 yd
3t _ : 4m |

121in.
7. 8. 24 ¢ 9. 5in. 10 8m
27 In ] 3
' A 2‘OCm::|120m 4zn.<7 X :
] 14 ¢m C gy i '
1;4‘ in .

% @ Sccrf_é Forasman Addison Wasiey 8
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11. A flower garden is in the shape of an equilateral trtangle.
Each side measures 15% ft. What is the garden’s petimeter?

N

g
H
£
%
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Area of Squares and Rectangles |

You can use formulas to find the area of a square or rectangle,
Find the area of a square that Is 7.2 mon  Find the area of a rectangle with a length

each side, {h of 4 cm and a width {w) of 12 cm.
Use the formula A = s2. Use the formula A = /. X w.

A= (7.2 A=4%12

A =51.84 A =48
The area is 51.84 2 The area is 48 om?.

Find the area of each figure.

1. ‘ 2.

8.3 cm

10.4 1

8.81

4,2 km

6.3 km

5. Reasoning What is the length of a réctanglethat has
an area of 120 fi* and a width of 8 ft?

6. Number S8ense What is the area of a square that is

12.4 cm on each side?






